DISCUSSION 5
1. What is the chart called when the paired data (the dependent and independent variables) are plotted? 
A)  Scatter diagram 
B)  Bar chart 
C)  Pie chart 
D)  Histogram 
3. Which of the following statements regarding the coefficient of correlation is true? 
A)  It ranges from –1.0 to +1.0 inclusive 
B)  It measures the strength of the relationship between two variables 
C)  A value of 0.00 indicates two variables are not related 
D)  All of the above 
4. What is the range of values for a coefficient of correlation? 
A)  0 to +1.0 
B)  –3 to +3 inclusive 
C)  –1.0 to +1.0 inclusive 
D)  Unlimited range
5. What can we conclude if the coefficient of determination is 0.94? 
A)  Strength of relationship is 0.94 
B)  Direction of relationship is positive 
C)  94% of total variation of dependent variable is explained by variation in the other variable. 
D)  All of the above are correct 
6. If r = –1.00, what inferences can be made? 
A)  The dependent variable can be perfectly predicted by the independent variable 
B)  All of the variation in the dependent variable can be accounted for by the independent variable 
C)  High values of one variable are associated with low values of the other variable 
D)  Coefficient of determination is 100%. 
E)  All of the above are correct
7. What does the coefficient of determination equal if r = 0.89? 
A)  0.94 
B)  0.89 
C)  0.79 
D)  0.06 
8. Which value of r indicates a stronger correlation than 0.40? 
A)  –0.30 
B)  –0.50 
C)  +0.38 
D)  0 
9. What is the range of values for the coefficient of determination? 
A)  –1 to +1 inclusive 
B)  –100% to +100% inclusive 
C)  –100% to  0% inclusive 
D)  0% to 100% inclusive 
10. The Y-intercept (b0) represents the 

a) estimated average Y when X = 0. 

b) change in estimated average Y per unit change in X. 

c) predicted value of Y. 

d) variation around the sample regression line
11. The slope (b1) represents 

a) predicted value of Y when X = 0. 

b) the estimated average change in Y per unit change in X. 

c) the predicted value of Y. 

d) variation around the line of regression.
12. Suppose the least squares regression equation is  [image: image1.wmf]ˆ

Y

 = 1202 + 1,133X. When X = 3, what does [image: image2.wmf]ˆ

Y

 equal? 
A)  5,734 
B)  8,000
C)  4,601 
D)  4,050 
13. What is the general form of the regression equation? 
A)  [image: image3.wmf]ˆ

Y

 = ab 
B)  [image: image4.wmf]ˆ

Y

 = a + bX 
C)  [image: image5.wmf]ˆ

Y

 = a – bX 
D)  [image: image6.wmf]ˆ

Y

 = abX 
15. Based on the regression equation, we can 
A)  predict the value of the dependent variable given a value of  the independent variable. 
B)  predict the value of the independent variable given a value of the dependent variable. 
C)  measure the association between two variables. 
D)  all of the above. 
16. In the least squares equation, [image: image7.wmf]ˆ

Y

  = 10 + 20X the value of 20 indicates 
A)  the Y intercept. 
B)  for each unit increase in X, Y increases by 20. 
C)  for each unit increase in Y, X increases by 20. 
D)  none of the above. 
17. Assume the least squares equation is [image: image8.wmf]ˆ

Y

  = 10 + 20X.  What does the value of 10 in the equation indicate? 
A)  Y intercept 
B)  For each unit increased in Y, X increases by 10 
C)  For each unit increased in X, Y increases by 10 
D)  None of the above 
18. What is the variable used to predict another variable called? 
A)  Independent variable 
B)  Dependent variable 
C)  Important variable 
D)  Causal variable 
Use the following information for answering questions 19 to 22:

A professor of economics wants to study the relationship between income (y in $1000s) and education (x in years). A random sample eight individuals is taken and the results are shown below.

	Education
	16
	11
	15
	8
	12
	10
	13
	14

	Income
	58
	40
	55
	35
	43
	41
	52
	49


Given, 
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19.
Determine the least squares regression line.

ANSWER:

20.
Calculate the Pearson correlation coefficient.  

ANSWER:

21.
Determine the coefficient of determination and discuss what its value tells you about the two variables.

ANSWER:

22.
Predict the income of an individual with 10 years of education.


ANSWER:
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